s

EI=20 800 kN-m?

&
5
10 y e
N 3m J 3m J
I N M
b = d
el te
Ae:‘omrnj: b
-Hq (o AT Re.
M
p fla
Ra
b = d
e| Heo=0
— sD
2 MaD/O ﬂ%
=0 A/
Rqo:O
b = d

—P@ij,-g <— ‘\eﬂ,: %

T

o mql’=7—5w\
\(\al,:éa. j;(\q\s\ C_C.ew\ ’F\;‘LQ ke_l —Qu*ow\,

‘:%b <5"'Q C - A\."Q)

Qeﬂ»gv 5\/8_\' e\,

Muest oo \woose Qe. s

‘F‘QC\\J V\-é\,cbV\,_\_ Co_\_\me,\f‘ wJ ‘u&%

C,q,\ cu \, a_\_l\/\\p} C§\ -\»SF\@CeW\.en;J:s

will be moclh wmoer-e

c)\LL.—Q'Q'u cu H:.> .

PF [AYON SYO g\/ﬁ‘Lem

Und Redondant

C‘F\%eé\ \La\/\, \\"\/vQ/
A,L\I‘eo—& Son =
O%s U mmed Re\)
a\ooue,b C\/esJ I
kV\O\A.) Cl\_é e
Cb-uej;’rlowau\m\‘e,

aAsSZ UM \'O‘\_EO w

T\'L‘L.s Q_%AVL& \, $ 5\,\13 =
Lpw OVV‘J\ &.t%'&b&_&cematﬁs

as —“+Lwe.



P e %
T . W\.oW\eE\' c)wa— ‘Xr'o
3 VUwit Q,A“ vndant

™
U

f'v‘\

75 L lexibilidly cof® (disph doe Yo onit redondat)
\C% il vy

EX
s (B - iy IS
<_ seq a,\a,> L&t&loc)i cvt) C%@S- A<,>

- lEI’ YS_W\ T5m (24‘#.706M +’Sw\.> 4 %\N\QF?‘.SM -(-«1#3%)]

&

3

120,75 m>
EX

CQW\ (Oq?k‘léb\n\d*\! z @Q_Q\ S\j‘s‘k'n-wx = P\/‘tmw S}/g\-em —l—@e* \)V\.ﬁ ’Qe_é\um\ow.‘l‘

\/ev»‘\. ALS \C\_C/@V\/\ e,wJV @ _
T Q&e —we
Ae_ = &eo ~ Qeg@i becavse

=2 +we - See
—0.0lwA = O 4 RQ \29E:7SM Prev. paﬁo—>
X

P, = —82.82 x5 -~ ET
W<

- 2L
= —B2.824 > < X 20 oD N —m
n &

Re ==1.72, N C:o J7>




F2:58

A

SUPQ,\I"GBO&_\T\‘EOV\.
He = #thy +Rehy = O+ -192.2 = —2.58kN (= =)
Re = Ro=Rarny = O = k72| = 172N (= )
Mq = Mqo —Qedw\%‘ = O — =-L72x725 = 12.9 kNwm G‘,Lﬂ)
He = Hop + Rohe = O + -17243 = -258\N (& )
Mo = Rex s —I72e3 = S5 ki
My, = Myos ~RPox—= =~ 5-16 kN-m
FRD
= 2.9 |<,N
2.9 kNw L\-72|<,N
ZEBRN P s
72 +o-/L
- -
- \/ -25% )/ \
LN /




